
 

Assembly Instruction

2.Do not screw on the bolts too tight unless the
    installation is done. Make sure all bolts are tightly
   screwed before you use it.

1.Two or more people are required for assembly

x4pcs10

x1pc11

x1pc12

x2pcs13

x1pc14

x4pcs15

x1pc16

x1pc17

x1pc18

x1pc19

x4pcs1

x4pcs2

x2pcs3

x1pc4

x2pcs55

x1pc6

x2pcs7

x1pc8

x2pcs9

1

1

1

1

1

3

3

4

5

5

6

7 x2

8

9 x2

10

10

10

11

12

13

13

14

16

17

18

19

21

22

20

2 x4

15 x4

10

Nut



2 3

1
x1pc20

x1pc21

x1pc22

x20pcsA

x10pcsB

x6pcsC

x4pcsD

x20pcsE

x13pcsF

x6pcsG

x1pcH

B

M8x12

M8x14
white zinc

M8x20

M8x25
white zinc

M8x33
white zinc

M8x38

M8x60

M8

2

NutB

18

19

6

M8x14
B 2pcs white zinc

18

19

6

20

M8x14
B 2pcs white zinc

B

M8x38
F 6pcs

F

F

21

19

18



54

6 7

3

17

16

G

M8x60
G 6pcs

M8x12
A 4pcs

M8x14
B 4pcs white zinc

15

21

22

A x2
A

A
A

AA

1

1

3

2

M8x12
A 16pcs

x2

E
E

E
E

E
E

E
E

10

10

1

3

1

M8x33
E 16pcs white zinc

A

B

Foot pads down

Foot pads down

Velcro facing the top



98

10 11

4

13

12

11

13

14

C
C

C

C

M8x20
C 4pcs

Install screws loosely, 
don't fully tighten

Tighten screws D

D
D

1

1
1

1

14

M8x25
D 4pcs white zinc

7

7

8

9

9

F

F
F

M8x38
F 4pcs

Install screws loosely, 
don't fully tighten

Tighten screws E

E

E

M8x33
E 4pcs white zinc

61

1

1

1



F

F

1312

14 15

4

5

C

C

Assemble second

B

 to Assemble first

B

M8x20
C 2pcs

M8x14
B 2pcs white zinc

M8x38
F 3pcs

5 x2

Finish

7

7

6

14


